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Планиметрия	
		Теорема	Пифагора	на	готовых	чертежах	

Теорема	Пифагора		
№1	

		
																										𝐵	
	
	
																									3	
	
																										𝐴														4																		𝐶	
	
Дано:	D𝐴𝐵𝐷 −	прямоугольный,	где	∠𝐵𝐴𝐶 = 90°;	

	𝐴𝐶 = 4, 𝐴𝐵 = 3.	
Найдите	𝐵𝐶.	

	
Ответ:		

№2		
	

																													𝐴																	8															𝐵	
	
	
																																																																			6	
	
	
																																																																		𝐶	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐵𝐶 = 90°;	

	𝐵𝐶 = 6, 𝐴𝐵 = 8.	
Найдите	𝐴𝐶.	

	
Ответ:		

№3		
																												𝐴		
	
	
																											8																					17	
	
	
																											𝐵																																			𝐶	
	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐵𝐶 = 90°;	

	𝐴𝐶 = 17, 𝐴𝐵 = 8.	
Найдите	𝐵𝐶.	

	
Ответ:		

№4		
	

																																							𝐵																		𝐶		
	
																																																										
																																																							
																																																																																																		
	
																																						𝐴																			
	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐵𝐶 = 90°;	

	𝐵𝐶 = 3,	𝐴𝐵 = 5.	
Найдите	𝐴𝐶.	

Ответ:		

№5	
		

																																										𝐴																						𝐵	
	
	
																																																																				12	
																																																																								13	
	
	
																																																																	𝐶	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐵𝐶 = 90°;	

	𝐴𝐶 = 13, 𝐵𝐶 = 12.	
Найдите	𝐴𝐵.	

	
Ответ:		

№6		
	
	
	

																																												𝐵																			𝐶		
	
																																																										
																																																							
																																																																	𝐴																			
	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐶𝐵 = 90°;	

	𝐴𝐶 = 6,	𝐴𝐵 = 8.	
Найдите	𝐵𝐶.	

Ответ:		

№7		
																																																																																		𝐷	
	
																																																										
																																																																								
	
																																																																																																		
	
																									𝐴																				𝐵																														𝐶	
	
Дано:	D𝐵𝐷𝐶 −	прямоугольный,	где	∠𝐵𝐶𝐷 = 90°;	

	𝐵𝐷 = 10,	∠𝐴𝐵𝐷 = 150°.	
Найдите	𝐵𝐶.	

Ответ:	

№8		
	

																					𝐵																														𝐶																					𝐷	
	
																																																										
																																																							
																																																																																																		
	
																				𝐴																			
	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐵𝐶 = 90°;	

	𝐴𝐵 = 6,	∠𝐴𝐶𝐷 = 150°.	
Найдите	𝐵𝐶.	

Ответ:		

№9		
																																																																																			
																																																																																			𝐵	
																																																										
																																																																							𝑀		
	
																																																																																																		
	
																																													𝐴																																	𝐶	
	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐶𝐵 = 90°;	

𝐴𝐶 = 16,𝑀𝐶 −медиана,	𝑀𝐶 = 10.	
Найдите	𝐵𝐶.	

Ответ:	

№10		
	

																											𝐴																	20																	𝐵	
	
	
																																																																				15	
	
	
																																																																			𝐶	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐵𝐶 = 90°;	

	𝐵𝐶 = 15, 𝐴𝐵 = 20.	
Найдите	𝐴𝐶.	

	
Ответ:		

№11		
									𝐵	

	
	
	
	
																											𝐴																					𝐿																			𝐶	
	

Дано:	D𝐴𝐵𝐶 −	равнобедренный,		
𝐴𝐵 = 𝐵𝐶 = 10,	𝐴𝐶 = 12;	

	𝐵𝐿 −	медиана.		
Найдите	𝐵𝐿.	

Ответ:		

№12		
	

																											𝐴																	40																𝐵	
	
	
																																											50	
	
	
																																																																		𝐶	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐵𝐶 = 90°;	

	𝐴𝐶 = 50, 𝐴𝐵 = 40.	
Найдите	𝐵𝐶.	

	
Ответ:		

№13		
	
	

								𝐵	
	
	
	
	

		𝐴																																												𝐶	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐴𝐵𝐶 = 90°;	

	𝐴𝐵 = 𝐵𝐶 = 10.		
Найдите	𝐴𝐶.	

	
Ответ:		

№14		
	
	
																																	𝐵	
	
	
	
	
																																𝐴																									𝐶	
Дано:	D𝐴𝐵𝐶 −	прямоугольный,	где	∠𝐵𝐴𝐶 = 90°;	

	𝐴𝐵 = 𝐴𝐶, 𝐵𝐶 = 10.		
Найдите	𝐴𝐶.	

	
Ответ:		

№15		
																																									

									𝐵	
	
	
	
	
																											𝐴																					𝐿																			𝐶	
	

Дано:	D𝐴𝐵𝐶 −	равносторонний,	𝐴𝐵 = 10;	
	𝐵𝐿 −		медиана.		
Найдите	𝐵𝐿.	

	
Ответ:		


